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1. In the given figure,sinl =
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2. In the given figure,cosG =
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3. In the given figure,tanP =
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. RQ SR ~~PQ QR QR
(i) PR (i) RO (iii) Rp (iv) RP (v) PO



4.

5.

6.

7.

In the given figure, cotO =
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8. In the given figure, cosF =
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9. In the given figure,tanG =
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10. In the given figure, cotE =
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11. In the given figure,secO =
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12. In the given figure, cosecG =
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13. sinB =
1 1 1 1 1
(i) (i) - (iii) (iv) - (v)
cosecB cosB tanB secB cotB
14. cosF =
1 1 1 1 1
(i) (ii) (iii) (iv) (v)
tanF cotF cosecF sinF secF
15. tanD =
1 1 1 1 1
(i) (i) - (iii) (iv) - (v)
cosD cotD sinD secD cosecD
16. cotM =
1 1 1 1 1
(i) (ii) (iii) (iv) (v)
tanM cosM secM cosecM sinM
17. secM =
1 1 1 1 1
(i) (i) - (iii) - (iv) - (v)
cotM tanM cosM cosecM sinM
18. cosecC =
1 1 1 1 1
(i) (i) - (iii) - (iv) (v)
sinC tanC cosC secC cotC

19. InAFGH, right angled atG,ifFG = 24 cmandGH = 10 cm, findsinH
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InAHIJ, right angled atl,ifHI = 15 cmandl] = 8 cm, findcos)
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InAEFG, right angled atF,ifEF = 8 cmandFG = 6 cm,findtanG
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InAFGH, right angled atG,ifFG = 35 cmandGH = 12 cm, find cotH
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InABCD, right angled atC,ifBC = 35 cmandCD = 12 cm,findsecB
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InAFGH, right angled atG,ifFG = 15 cmandGH = 8 cm, findcosecF
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